Stage 4: Written lllustrated Report

ARC517: Technical Design Project

Kyle Nugent —B00737253
Friday 30" April 2021



Contents
l. Introduction — Project RECAP..........c.vcviieiie ettt e st s 1
I.A Project Description, Location Maps and NOtes.......ccccevveeeeccine e e 1
LA.1 Enlarged Building Site CoNteXt......couvivireereeieeiecieie et 2
I.LA.2 Proposed Building MassSing.........cceeveveevinece e e 3
I.B [llustrative Summary of concept and main massing approach.........cccceueuuen.e. 4
I.C [llustrative Summary restating of Project FOCUS.......ccoouvivvvevnvcrceneneeeiiene 5
I.D [llustrative Summary restating of Sustainable Aim and three Objectives.......6
1.0 Functionality and Inclusivity: Accommodation & Brief compliance.......................... 7
1.A Detailed Schedule of AccommMOdation.........cccooeeevernieieie s e 7
1B General Arrangement Building Plans & Sections.........ccccveveivevnve e e, 8
1.B.1 GA PlaNS. .ottt sttt st st et st st e ene s 8
1.B.2 GA SECLIONS....ciiiiiiiri e e 15
1.B.3 GA EIeVatioNS.....oceeeieiece st s 16
1.B.4 Landscape Site Plan......c.ceeieivieecececece e s 20
2.0 Buildability and Assembly.............c..coomiiiie e s 21
2.A PrOJECE FOCUS... ettt ettt sttt sttt sttt et s st e e st e sa e steeneeee s saeesees 21
2.B Overview of Buildability and Assembly Approach........cccccceeeveeeceiveeervevecenen. 22
2.C SErUCTUNAl GA Plan....cceeiece et st s e s 23
2.D Coordinated M&E Overview Lin€ DraWing........ccceccevreereeeenreerveneeieeneesreeneevesesens 24
2.E Enlarged Plans and SECLIONS.......ccccveceee ettt sttt et svesan e e 27
2.E.1 Typical ENtrance Areas.....ccccc e cceeeeeceieieeecee e st esvees e s ete e eae e 27
2.E.2 Shared Spaces iNterNally........coevveecieneee e e 29
2.E3 Typical Student Cluster and ROOM......ccoovevecciice e, 33
2.E4 Elder Residential Typical Apartment.........ceeveeieecveneneceeveenreennnens 38
2.E.5 Typical Studio as Wheelchair Accessible.........cuevevievereenrecreeennen. 40
2.F ENlarged El@VAtioNS... ...ttt et e s 41

ARC517: Technical Design Project

2.G Four Independently Developed Plan-Section-3D Components..................... 44

2.G.1 External Cladding and GIlazing.......ccccvvveivcveve e 44

2.G.2 Balcony and Terrace COmMpPONENTS.......covevevververcereneieieieeieeaeeeenes 48

2.G.3 Specialist EXternal Ar€a........ooeveeeeceeieeie e e s 51

2.G4 Specialist Internal component.........cccoovvieeicnveie e 54

3.0 Health and Safety..........ooiic e ettt e eaee 57

3.A GA Fire EZress DraWiNg. ..o veivieiies st cniessieseteies s ssrves e ssneeessressssesssessnasnnes 58

3.B Enlarged Fire Lift Core Plan & Sections........ccccueieieicininiscse e 59

4.0  Environment and Sustainability.............c.cccoooreriniieccc e 61

4.A Overview of Applicable Sustainable Elements........ccccccvviveviveiveececcecece e, 61

4B Evidence of Research and TeStiNg........cvuvivivineineireeecce e 62

4.C [llustrated Statement on Services and Specifications........ccceeevevcveverveiecenen 63

5.0 Performance and DUrability.............cccocooioiiiicii e 64

5.A Outling SPeCIfiCAtiON.....cce e e e 64

5.B Testing and other Information.........cceooeve e 65

6.0 BiblIOZBrapRy.......co e e e e s et e e ee e e 66
Appendices

1.0  RIFF Reflection from Week 6................cooermiiioiiieriecece e 68

2.0 ProcCeSs WOTK.........cooceiiiiiciieciceie ettt e e e e e e e s e e e 71

3.0 Design in CoNteXt IMAGES.......ccco ittt e s n e e e e ssbes s sbeanes 87
Declaration:

"I declare that this is all my own work and that any material | have referred to has been accurately
referenced. | have read the University’s policy on plagiarism and understand the definition of plagiarism.
If it is shown that material has been plagiarised, or | have otherwise attempted to obtain an unfair
advantage for myself or others, | understand that | may face sanctions in accordance with the policies
and procedures of the University. A mark of zero may be awarded and the reason for that mark will be

recorded on my file."

Student Signature: M

Stage 4: Written Illustrated Report



. Introduction — Project Recap

I.A Project Description, Location Maps and Notes Site Location

Purpose of Document Former Sirocco Works
Site, Belfast

Within this document, the progression of the Sirocco intergenerational housing
scheme is presented. The design of this mixed-use building has progressed from an Co. Antrim
initial design to stage 4 of the RIBA plan of works. Areas that will be covered include,
Function and Inclusivity, Buildability and Assembly, Health and Safety, Environment
and Sustainability, and Performance and Durability. 54.599746, -5.914619

Co-ordinates

Description of Development

In total, this intergenerational housing will contain 180 no. student bedrooms, 21 no.
young-old apartments and 16 no. resistant assistant studios. There is also many
communal spaces across the building which aim to promote interaction, including
games room, social areas, a small gym, and quiet study rooms. Additional to these
spaces there is 2 no. external courtyard areas suitable for allotment vegetable growing.
These roof spaces is accessible to all residents from the second and eighth floors. There
is also several utility spaces present within the building, which are primarily for the
residents. These spaces include a laundry room and a bike store.

Site History

Slte Locatlon
The proposed building will be built on a brownfield site, which is partially reclaimed i

land. Throughout Belfast’s history this site has been used for various reasons. Firstly,
at the start of the 18™ century the site housed glass making facilities, this is the reason
why there is a red brick kiln present on the site today. After this the site was the home
of various engineering works. Today, the site is empty apart from a temporary car park
which is situated at the north entrance.

Figl: Former Sirocco Works,
(Sirocco Masterplan, 2020)

Fig3 - Site Surroundings (Google Maps, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



I.A.1 Enlarged Building Site Context

750

N

S

N
™~
N
~
%

This intergenerational housing
building is a key part of the Belfast
sirocco masterplan. As seen within
figure 4, it closely neighbours a
range of other large buildings, all of
which has different uses.

Figd - Sirocco Masterplan Massing
(Sirocco Masterplan, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



I.A.2 Proposed Building Massing

This is a closer look at the proposed
building massing. The building
consists of three blocks, with the
students primarily located within
the larger Block A, and the Young-
Old residents situated in Block B.
The Smaller Block C is where many
of the social spaces are located. It is
here where all residents will be
encouraged to interact.

1Y
Ty W

T - T -

Fig5 - Proposed Building Massing
(Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



I.B [llustrative Summary of concept and main massing approach

N
\
—) = @
elivery Area / ’cleaner anage
tor \ Office “TON
/ \ i 3

~S

/
'Receptio,; ecuri
\ \Room
\

II Young-Old \

-
\
eeting \ \ Apartments ,,
Room » \‘~ ]
Ak . ud

/
P /
49

LI - N TN
\‘——,‘# Main‘%g— Servi ’ Igommunai\i— ’ _—l, \\
Horizontal ervice :
Foyer 1 \ orizonta i ‘Kitchenettel__ 0 RA Studios |
\~

N
N

N

|

: ,,r \Clrcu!atlon, o EN ) \ /
all \~—, ,\—s\ ‘(\ \~—/
" 1 \
\g‘e th ] { Laundry \ i
'sl Ny \ Room [/ y: \
ulti-Function! ) 4 - f \
-
\  Room R AR TN | Student Suites 1
& s [ Small \ [ Social \ [ Games \ \ ]
—_— \ Gm I\ Room I" "\ Room / \ /l
\ifl \5', \hfl \\_‘I
Staff Areas Communal Areas
Public Spaces Residential Zones
Figb - Mind Map (Author, 2020)
Student Suites Multi-Function Room . Staff Area
Young-Old Apartments . Services . Social Spaces
Foyer / Reception Main Horizontal Circulation D Study Spaces
Study Space Secondary Horizontal Circulation . Delivery Area

Fig7 - Spatial Model (Author, 2020)

ARC517: Technical Design Project

A set back into the — |

building is present at
Level 08/Level 07 B.

Block C contains 2
no. floors.
Reception/lobby
space to be double
height. Roof top
garden located on
Block C.

Fig8 -

Young-old terrace
spaces formed
within building
structure

Block B pushed
down.
Hardscape
terrace located
at top level
Basic Building
Massing Development (Author, 2020) Figd - Level Massing (Author, 2021)

From the beginning of the design process, the relationship spaces, within
the building, had between each other was highly important. This is a key
requirement for any successful project. This is the reason why a mind map
was a good starting point. From there the external shape was developed,
through simple massing and 3D visualization of spaces. These exercises help
develop the design to Stage 3.

Stage 4: Written Illustrated Report



I.C [llustrative Summary restating of Project Focus

Fig10 - Fire Compartmentation (Promat, 2020) Figl1 - Student Accommodation Fire (BBC, 2019) The project focus is fire safety design. During

the design process, each component will
have their own form of fire protection
required. The inclusion of these measures
will be seen within the individual component
details.

Figl12 — Cavity Barrier (Envirograf, 2021) Figl4 - Fire Stair (Ali Glass & Stainless, 2020)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



I.D

[llustrative Summary restating of Sustainable Aim and three Objectives

As part of the building design, a sustainable
aim and 3 following objectives had to be
integrated. It was thought that aspects of
passive  house design could Dbe
implemented into this project. The
following design components were
selected on that basis:

1. Rainscreen Cladding

2. Raised Floor Air Ventilation

3. Intensive Green Roof

ARC517: Technical Design Project

Figl7 - Raised Floor Model (Author,

uninsulated conventional

highly efficient

Figl8 - Thermal Bridging (IPHA, 2020)

Figl9 - Green Roof (Bauder, 2021)

Fig20 - Rainscreen Facade
(HVG Facades, 2021)

Stage 4: Written Illustrated Report



1.0 Functionality and Inclusivity: Accommodation & Brief compliance

1.A Detailed Schedule of Accommodation

Accommodation

Name Quantity Requested Quantity
Co-Living Student Suites 180 180-190

Co-Living Independent Young-Old Apartments 18 15

Resident Assistant Studios 16 11

Due to the development of Block B, there was the opportunity to include extra young-old apartments.

Common Areas Shared by Students and Elderly Residents

Name Room Number Level Area Requested Area
Foyer Area AG.1 Level 00 169m? n/a
Reception AG.1B Level 00 20m? n/a
CCTV Monitoring BG.9 Level 00 11m? n/a
Consult Room BG.8 Level 00 11m? n/a
Communal Kitchenette A1.3 Level 01 75m? n/a
Library A2.13 Level 02 65m? n/a
Quiet Study A2.14 Level 02 31m? n/a
Mailbox Area AG.1C Level 00 11m? n/a
Laundry Area AG.14 Level 00 69m? n/a
Multi-Function Room Al.7 Level 01 82m? n/a
Gym Al.14 Level 01 85m? n/a
Common Area AG.4 Level 00 124m? 100m?
Social Room A2.7 Level 02 65m? 45m?

Due to the shape of the common room, on Level 00, it was felt additional space was needed to provide the best possible area for the residents.

Services Consideration

Name Room Number Level Area Requested Area
Main Storage BG.7 Level 00 47m? n/a
Parcel Store BG.10 Level 00 18m? 15m?
Management Office B1.8 Level 01 74m? 70-80m?
Office Storage B1.8C Level 01 4m? 4m?
Staff Room B1.7 Level 01 23m? 22-25m?
Staff WC B1.5 Level 01 5m? n/a
Staff WC B1.6 Level 01 5m? n/a

WC + Shower B1.4 Level 01 10m? n/a
Manager’s Office B1.9 Level 01 17m? n/a
Comms AG.13 Level 00 15m? 10-12m?
Switch Room AG.10 Level 00 16m? 15m?
Ground Plant Room AG.11 Level 00 85m? 80m?
Bins AG.16 Level 00 39m? 36-40m?
Recycling Bins AG.16B Level 00 47m? 50m?
Bike Store BG.3 Level 00 87m? n/a

Car Parking AG.15 Level 00 58m? n/a

It was important to keep as close to the requirements as possible when designing the service spaces.

ARC517: Technical Design Project

Stage 4: Written Illustrated Report




1.B General Arrangement Building Plans & Sections

1.B.1 GA Plans

Ala A
sirehonng Star
i

| pAIE]

n.“ '\-.i': 1
AE T LIERS = 4 .
Gnowered Flare Room aby =
o 9 |
i

3 L B i
"' i BG4 IR
",I ] ATRTS 50 b ki k| ‘
3 ™
Eal
[y

e
LR AN

HE

Lt Harking

IR
Lomsult Hoom ey ' o
e i |

ala i I

LT Monmanng |||
Ala

SOy . . I
~aTe

Ala 1=
Hrcapnm

Ala 4 :
W 0 [:; |
M LAER [
ME e W | L e Al duea |
| HFEINY J-'-l:.-: |

Ala

|r- :u.:!::n | | | | -
— _
Fig21 - Level 00 (Author, 2021)

Ground Floor Circulation Percentage: 36%

Circulation Lobby/Reception Staff Area Car Parking Storage wC

Bin Storage Common Area Utilities Services

Vertical Circulation

ARC517: Technical Design Project Stage 4: Written lllustrated Report



ARC517:

LI
Sk | Baen

M1dE
Elorage

Technical Design Project

b [

A1
FurchoerFioon,

MR
Chiculistion

Mtz
Clinetim e Rexin

e

(L™
Erel e oy

G s

BB
Firehgtthig S

— -

[ ]

S1.A1D

fdain Bedricon
4

Ll

1415
rirds -hrl'l ke

M0

S

1° Floor

Young-Old Apartment

Common Area

Al
Mub-Fumnction Room

Fig22 - Level 01 (Author, 2021)

Circulation Percentage: 31%

Staff Area Circulation

Functional Area wWC

514
WO S

1.7
Sl Roc

il

AITE

1.0
Salt Maewrny Ronm

&L
Maregur s

Storage

Vertical Circulation

e

Stage 4: Written Illustrated Report

S1.80 S A

Sl

TN
haragur ! O



10

‘.’.'..l E\ g e Ny .
“-I & 'q‘ . .'
A i .'.|_..._..|L_...l_, M
L
: L]
.\-
| I:F_-! I I !:E! I | I I | I I I ! ! I I !
Fig23 - Level 02 (Author, 2021)

2" Floor Circulation Percentage: 15%
RA Studio Young-Old Apartment Staff Area 5 Bed Student Suite Storage
Circulation Common Area 4 Bed Student Suite WC Vertical Circulation

ARC517: Technical Design Project Stage 4: Written lllustrated Report



ARC517: Technical Design Project

3" — 6" Floor

RA Studio

Circulation

11

|
el
1 I
g 2]
Fig24 - Level 03 (Author, 2021)
Circulation Percentage: 12%
Young-Old Apartment Staff Area

Vertical Circulation 4 Bed Student Suite

5 Bed Student Suite

6 Bed Student Suite

Stage 4: Written Illustrated Report



I T——a—T—T—T—=

ARC517: Technical Design Project

7' Floor

RA Studio

Circulation

—

Fig25 - Level 07 (Author, 2021)

Circulation Percentage: 21%

Young-Old Apartment

Vertical Circulation

Staff Area

4 Bed Student Suite

I17
AT 54 tl
S

Rl

e

5 Bed Student Suite

Storage

12

Stage 4: Written Illustrated Report



o =inefghnng S5a

Bk s
KHE A GH =1
Fio Lf =10
B0 7
> Py BT
A = AT
e ¥ 3
T fH =N Ed Ak =
S oy H = Ml -
o & oy et Sln el
1 y
L= 1t ar T
Kb B LHE1E
? IR
- ﬂﬁ- !
h:-L S sy A i L |
Wi 20T L 1 ;
| T L] =
. i
1 LH 588 :
= B
i aT L
oa o ST
E
h: STl

13

Fig26 - Level 08 (Author, 2021)

Circulation Percentage: 21%

8" Floor

RA Studio Common Area Staff Area 5 Bed Student Suite

Vertical Circulation 4 Bed Student Suite

Circulation

ARC517: Technical Design Project

Stage 4: Written Illustrated Report



" L EAE

ARC517: Technical Design Project

[
] .
L s BT
.--1-.:': .':.
s
&l 5F
T i [ TR TN
e
2 " Gl 5l e
: ol - Chig i
(E |} Fe
r LY EF
H I
Fap
.\-

9t — 11* Floor

RA Studio

Circulation

[ el s

O ]
Elrk soowe e
mad e
3 I
f‘\t g B Fd

iﬁ .‘-...rlJr,- s

MWW ST

i - |

CRTTI T
1] § A 5
1N CERCEN =]

Fig27 - Level 09 (Author, 2021)

Circulation Percentage: 21%

Vertical Circulation

5 Bed Student Suite

w) Fnoea=lrgpen Baciroom

Staff Area

4 Bed Student Suite

14

Stage 4: Written Illustrated Report



15

1.B.2 GA Sections

Lavel 12
s R

e_;:;;_] T :l ||\L I% I
: Al
A PR ® ® © &
6_3;‘30:-_ T T T I? @) | ! ‘ ! ! |
g T | | |
TR 2 FEE N e —
%‘}Jﬁ_ i IF : T I% | : — B " | | | I
Il CTE] | we |
e EHE g — - - - R s oo | . | -
Zamn. | = — & 1 rri1hrrTri %j ] 5ol ‘ ‘ EEE R |
E ! + - ':: j— T Il::l - A: . - ——L!"io'”"'—@ Lewel 0TE _. m I I . 1
Lewed 07| \ L1 =11 1] 1 — — :-__ — 1 | | _ mose 22060 : o
CoEm E | B == | [ _ ! % z B L A ! — | _] _ 1 !
g = 11 | H 2 TP
| REIER | I 4 | | = NI
| |T —oin-hm |l 2 v gL ][l_ L i'.j(—_:—L_MTsofsi—_@ S | = ; i b j; T
I | — T [ T [ 7] o 1
E I$ . | 1 T 2 a 1 _ | - | N:J_-’L‘H ?| N :]
@emo | LB Sans 1 i __;.;i_—ﬁ_:—i“%if_ S-m — ,l = | : ! ' “ ﬁ; f—
B et L _ EE LTI E\I-l IEIEIRNIN) il || e g iess_| | N _; | e -=£ . 1
! ANl 'l =T=rN = = _ _ g - Hl "
LRl | <1/| 1 | K ‘ im i i R e | (R | it Pl il e |
: l EE) l | ' |] 5ol | = | h _ “
Qo || BT | o L1 Bieo | 1] : i 1 ® o T
: ! A ! r"I\ ! ‘{l o I B A ! | F : I\
Levwed 00 e oA | [ Lewel 00 o
Fig28 - Section 1 (Author, 2021) Fig29 - Section 2 (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



1.B.3 GA Elevations

@ Lived 12
36300

_®

]

1
- 1
Lave 11 1
@ aaam | 1T
n

3
e Liwed 10
30300
3

Lansed [H1 n|
FTIN

t
Lavel 08 n‘|
e

: EJ::::(
o= -

Enlarged Elevation
2.F.2

:?—r el s s s s

Lavel 06 B @
o]

E:
Lavel 08 u T T
18300
E:
Laved N5
@ 5300
E:
Lavad Db H H -
@ 17300 T T
E:
Laved I3 u
@ AN
3

e Lwsed 07 u_ [T
E3nn

2
Laved 01 ]

@ e
i

ARC517: Technical Design Project

F|
[
|I

Fig30 - South Elevation (Author, 2021)

=1
EE=

a
—
|

o

r— -

- —

T esm @

Laved 17 B -\E]
3050

16

Laved 15 B S
12750

Liavel (4 B EE
12600
Laved {13 8

T == E;]

L 17 S
E30N

Ceramic Rainscreen
Cladding Facade

-— 77— -7 - —
I N 1

Liawgd 1

Liaved 00

Stage 4: Written Illustrated Report



Liavail 08 B
=00

e Lava 07 B
FINS0

Lava 0B B
1800

Liaval 05 B
1STED

Lava 04 B
17EC0

Lawil 02 B
e wEr

Jidd

Jid

Jidd

Ji2d

Jadd

ARC517: Technical Design Project

#
Ll 02
e
#
[
350
#
i D

Fig31 - East Elevation (Author, 2021)

17

Ibstock Mechanical Brick
System

Lesal 13
330
Lo 17
330 ES;]
Laval 10
[ = " !5;
Laval 09
S7300 EE;
Laval 08
4300 EE;
Laval 07
[ = “ziam !5;
E
Laval 06
18300 Eﬁ;
Laval 05
15300 !EE
Levn 34
[ = Tz E;a
Laval 03
S0 E5;]
Laval 02
- T ean !5;;
¥
Laval 07
5150 EE;
b

Stage 4: Written Illustrated Report



EB Ll 05 B
FEE00

Enlarged Elevation

2.F.3

i
H
Ll 0T B
TS0
7
n
Letanl 05 B
a0
7
H
Lewnl 05 B
15750
7
n
Letanl 04 B
T
i
H
Lewnl 03 B
e B
7
n
Latanl 0
e E300
i
H
Leanl 01
BE
7
n
Lefanl OO

Young-old Terrace

ARC517: Technical Design Project

Fig32 - North Elevation (Author, 2021)

Lewal 17
“zEann

Lawsal 11
33300

Cantilevered Balcony

Lawsal 10_@
30300

Lawal 09
FT300

Lefsnl 05
4300

Leswl OF
B E S

Lawal 05
R S

Leanl 05
BREET

Letanl 04

R

Lefwnl 03
SO0

Latonl OF
E200

Ll O

B3

Lefenl 00

18

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

© &)

Fig33 - West Elevation (Author, 2021)

Levn ?_@
300

Ll 17 E '\'\.
33300

Lansal 10

“aoacn @

Laval 09 ﬂ;
FTaoo

Ll 08
F300

19

L 07
e

Leval DB
15300 Q

Laval 05
THzaie S

(=T
1300 @

Lasial 23
[ G

Lasial 03
"eann @

Ll 01

— TaiE

Curtain walling system

L 00 [

Stage 4: Written Illustrated Report



1.B4

Landscape Site Plan

The immediate surroundings of the building are
primarily pedestrian orientated. This includes the
presence of the Crescent Gardens, which is a green
space at ground level for residents of the area. Other
large-scale buildings associated with the Sirocco
masterplan closely neighbour the intergenerational
building. There is two vehicular entrances, to the north
side, off the Bridge End Road. One of which is convenient
for any car accessing the small car parking provision
within the building. A railway also passes the north side,
providing views, from the residential balconies, of trains
heading in and out of Belfast City Centre.

ARC517: Technical Design Project

20

Fig34 - Landscape Site Plan (Author, 2021)

Stage 4: Written Illustrated Report



21

2.0 Buildability and Assembly

2.A Project Focus

The overall construction focus of the project is fire safety.
General guidance was gained from relevant manufacture
information and British Standards, in particular BS 9991:2015.
Helpful guidance was also found within Technical Booklet E.
The underlined theme of fire safety will be noticeable
throughout the design development of each sustainable
objective.

Consideration was given to the assembly of various
components across the building. Indication of open state cavity
barriers and the correct positioning of EPDM around window
cills is highly important. As the building has a rainscreen fagade,
it is important that these elements are correct to avoid any
flame from entering the air cavity, where it could then travel
across the building.

Fig35 - EPDM Membrane (OBEX, 2018)

When considering the external balconies, there is a high
attention spent on the eradication of thermal bridges, as this a
prime area where they can occur. However, the design will also
have to incorporate fire safety measures around this area. This
point also applies to the construction of the green roof
element.

Fig36 - Fire Barrier (AIM, 2021)

The raised access floor also bring fire concerns. If measures
were not taken, fire and smoke would easily travel from one
space to another from underneath the floor panels. The same
case applied with the suspended ceiling voids. Adequate fire
barriers in these spaces had to be considered.

Fig37 - Balcony System (Schock, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



22

2.B Overview of Buildability and Assembly Approach

The key materials proposed include

NBK Terra Cotta Rainscreen Fagade

Ibstock Mechanical Brick Rainscreen Facade
Bauder Intensive Green Roof

Schock Balcony and Terraces

Kingspan Raised Access Floor

Y
o
T L T WO
. § T
ol

T

Fig38 - Proposed Building Massing
(Author, 2021)

Fig39 - NBK Fagade Building Fig40 - Ibstock System Figa1 - Ibstock Brick Building Figd2 - NBK Ceramic Elements
(NBK, 2021) (Ibstock Brick, 2021) (Iostock Brick, 2021) (NBK, 2021)
ARC517: Technical Design Project Stage 4: Written Illustrated Report



23

2.C Structural GA Plan

The structure of the building was

considered from an early point of

| design. It was important to ensure

| the structure could be hid behind the

_____ ——® rainscreen and mechanical brick

! facade. This was an important factor

| as it has the potential to reduce the

i probability of cold bridging from

: occurring. A concrete structure was

g ultimately chosen for its impressive

fire attributes and the fact that

concrete beams are capable to span

distances of 6000 to 9000mm. The

typical floor depth across the
building is 210mm.

15

IRERRINEAE] I
Ll biad
T &
[y

BGT
Malnirla'lnmgn
¥ et

ik | # e High compressive strength

Other benefits which come will come
with the concrete structure include:

e Locally sourced

e Low maintenance factor
‘—@ e Less skilled labour required

[TERTS
Mailhoo Srea
L

BT

Fig43 - Structural GA Plan (Author, 2021)

AAAAAA

Figd4 - Structural Model
(Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



2.D Coordinated M&E Overview Line Drawing

24

Figd5 - M&E Line Drawing
(Author, 2021)

* L1 L]

“ERREE - . .

! mgqpﬂlgﬁﬂ

A variable refrigerant Flow (VRF) system will be used to air condition the many
spaces within the building. This HVAC system is more sustainable than alternative
technologies and is being utilised more regularly. This system controls the
temperatures of each space as it knows which evaporators need refrigerant flow
and which do not. This provides the building with individual comfort control for
residents, simultaneous heating and cooling, and also provides the benefits
associated with heat recovery (CED Engineering, 2021).

ARC517: Technical Design Project

As the building holds various types of spaces, there will be different indoor units
throughout the building serviced from within the suspended ceilings (apart from
level 1 which utilises raised floor ventilation). These indoor units will include
cassette type fan coil units and ducted indoor units.

Stage 4: Written Illustrated Report



25

~
= -
u
[
|| 1] B
22l FA
—
Ceiling Mounted Cassette - -
Figa7 - Daikin (2021) 5 % %
% [
I 5§ %
‘ ®
L]
N , — [ ] [ 7 ] ] ]

Figd6 - M&E Line Drawing (Author, 2021)

Ceiling Mounted Duct
Fig48 - Daikin (2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



ARC517: Technical Design Project

26

Fig49 - M&E Line Drawing (Author, 2021)

Stage 4: Written Illustrated Report



27

2.E Enlarged Plans and Sections

2.E.1 Typical Entrance Areas

‘ ‘ BG.A
Circuiaton =

BG.8
Cn1sy_h_Ra:w

Main :;i1;::r5.ge

830

g30

BG.S8
CCTY Manioning

E08 e0s

_ _ _ B
A1 |—'}

Lobiy

BG.10
Par:_gl_b‘bc-re

| L
=]

This is a closer look at the main entrance of the building, found on the
south side. This space is to be tiled with a Tetra ceramic tile. At the
entrance there is a 9mm INTRAluk Ultima matting.

Fig50 - Enlarged Entrance
Plan (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



28

o o

ARC517: Technical Design Project

Fig51 - Enlarged Entrance Section (Author, 2021)

Due to the location, a percentage of the walls had to obtain
a high fire rating. The British Gypsum FireWall system was
specified. These walls are capable to withstand fire for up
to 240 minutes. The walls are made up of 2 linings of
partition insulation along with Gypframe C studs at
600mm centres and Gyproc Fireline boarding.

The stairs within the foyer space will be precast concrete,
with the addition of ani-slip nosings. The stairs will also
have a glass panel railing for support, which can also be
seen at level 01. These railings will have stainless steel
balustrade posts. The partition walling will have a white
paint finish within this area.

Stage 4: Written Illustrated Report



29

2.E.2 Shared Spaces internally

2.E2.1 Multi-Function Room

910 910

1810

| L L

I 1 I ] I [ ] I 1]

AT

Multi-Function Room
82 m*
887.7T EF

Fig52 - Enlarged Multi-Function Room Plan (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



30

Fig53 - Enlarged Multi-Function Room Section (Author, 2021)

= lE=lE=E=E= =]

The brief required that this building had a multiple function
room. This space will be used for various activities, such as yoga
classes. It is located on level 01, which is distanced from any
residential spaces. A key requirement for this room was the
ability to sub divide the room with easily moveable partitions. As
seen in the enlarged sections, the space can be divided into 3
smaller spaces by moving the Kudos Sliding Folding Partitions.
These floor supported panels obtain a great acoustic rating of
50db.

o

Fig54 - Enlarged Multi-Function Room Section (Author, 2021)
ARC517: Technical Design Project Stage 4: Written lllustrated Report



31

Senior’s architectural system’s SF52 curtain walling system will
be used for the front gazing within this space. The anodized
aluminium mullions will hold the insulating glass panels into
place. The system will be thermally broken in accordance with BS
7619 and the gaskets to BS 3734. Also, in accordance with BS EN
13830, the air permeability, wind resistance and water tightness
will all be tested.

ARC517: Technical Design Project

|_ T ) TR,
= I P — - - g .. .. . ST - i PR . al T L ) t o
- - - T e e T fae R - . et S e e N
R s ok - a4 A o n e ta - T, - . - w o o

RO

Fig56 - Enlarged Multi-Function Room Section (Author, 2021)

Stage 4: Written Illustrated Report



2.E.E.2 Communal Kitchenette

«%@

..h.1.

ARC517: Technical Design Project

Al13
Communal

Kitchengtte

5 m®

1360 1360

The space is primarily for limited food service. It is not a fully
serviced kitchen, for this reason there is no flame/heat services.
The space will be fitted with suitable facilities including a tea
point, fridge and sink. Base unit and wall hung cupboards are to
be sourced from SieMatic. Bases units are to be 600mm and
come with plinth legs, hinges, and adjustable shelves.

Fig57 - Enlarged
Communal
Kitchenette Plan
(Author, 2021)

32

Stage 4: Written Illustrated Report



2.E.3 Typical Student Cluster and Room

——q]]

LG

A3 550
Bedroom
i it

33

‘ 210
J

210

A3 S3ICE
Bathroom §

2 i
#.33F @

Fig58 - Enlarged Student Room Plan (Author, 2021)

ARC517: Technical Design Project

- . g F = ; 0] - . T "
- o a S el al - : PRTI a
- a " o R ca da L b . . . R
; 4 ot a vl R . . - N o, - -
. Pl & & oA o T 2 A a a o . a-
3§ " B
==
—
- r - -
) & i -, & R a fag - :
Fy - - ) o - ) - R a .
4 . ar . _ . - L - ‘4 4 - . a a - - - e A .- e .
T e e g . . I A 4 A . - L Ta - - a. 3 .
ST a 9 a a - . P Y- i i & . - a’

Fig59 - Enlarged Student Room Section (Author, 2021)

This is the standard student bedroom design for across the intergeneration housing
scheme. Walls are to be the highly flexible GypWall classic system. This partition wall
contain metal C studs at 600mm centres along with Gyproc plasterboard, thistle finish
plasters and Isover insulation. In areas where necessary, the Gypframe AcouStuds can be
utilised. In terms of services, pre cut holes can be provided which makes their integration
easier (British Gypsum, 2021).

Stage 4: Written Illustrated Report



34

JUUbOOULL

T
& s
“a
ox,
]
-
-
A
v
P T
L1
.
3
Lm0
L
o
=
D (LS
=
_m .
n
.
p
.
k-l
"o
. .. .
2 :
o
c g
. "
ﬂ.
.0
L
' .Hﬁ
T .
k-l
T
. ]
.q...
;=
e
.
T
. .
L
Lk
. d.n..
L "
.o
ar
.W.
\r
!
E
... »
™\
a...._.
v
[
a2
T - I S

Figb1 - Enlarged Student Room Section (Author, 2021)

Fig60 - Enlarged Student Room Section (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



35

— = ) - g En ] s a - . a - 3
- . T a - ' ;3' ) Ta 4 . o a4 L T o a
s f a - ] - o . - _ - = a . T -
foaz a ©a 4 a - o . - - - a. :
. 4 AT i 5 2 sa N F .- a S ..
.o | T ax
. .
” =] l:Il
=]
— = 3 T | I — T |
- <1 . - A . -
- a - ta - - ®- . T 4 .t » k) 2 o T a
- o . - - P
iz " . | = - _ . .d"
N S a a B B a 4, S,
u il 2 - N a ]

ARC517: Technical Design Project

Figb2 - Enlarged Student Room Section (Author, 2021)

Stage 4: Written Illustrated Report



- | - - " - -.
. a o < . P
o . . L] B weo
- o - - -, da .
Au - N R B T
- o )
i
. Ta A -q_ _ T
ca a a ] a- - .
R .- a a . -
. a
K

[
roa
b

o

P

ARC517: Technical Design Project

Fig63 - Enlarged Student Bathroom Section (Author, 2021)

36

b
3
@
.hb._'.

Figb4 - Enlarged Student Bathroom Section (Author, 2021)

For the student bathrooms there had to be a different suspended ceiling specified
because of the moisture generated by the shower. The Rockfon Koral ceiling tiles, which
are manufactured in accordance with BS 13964, will be used in these spaces due to there

impressive resistance to high humidity.

Stage 4: Written Illustrated Report



- — = = —x -
a - . - - . < -
" 4 C } o - L] -
. - - a "
o AL ad I )
a - d, - * 4 -d-q
] il had
I !
R . iR - -
L Ta P L] -
. o s a Y a
- . = x ]
. . - - a .
4 -$ T -t -. 4 ﬂ_’dd

ARC517: Technical Design Project

Figb5 - Enlarged Student Bathroom Section (Author, 2021)

37

[
14

::| F=
i
|| |4
i - . A -u- a —
TR o s - e
P o 5 -
""il 2. A 4 A & N

Figb6 - Enlarged Student Bathroom Section (Author, 2021)

Stage 4: Written Illustrated Report



2.E4 Elder Residential Typical Apartment

T TERTIE)

i E—

38

1340

i E—

-

Main Bedroom

BS.A1D

14 m*
151.8 5F

1710

W

111441

ARC517: Technical Design Project

BS.A1A
Hall
o

100.4 5F

810

710

BS A1TF
storage

2m?
16.5 5F

1000

F—
o —
f—

Figb7 - Enlarged Young-Old Apartment Plan (Author, 2021)

Ba.A1E

Living Room/Kitchen
36 m*
30825 5F

1350

1
| RTIA

=

N

|_||r’i

Stage 4: Written Illustrated Report



‘ L

- \>f/ . \> A
IS P N - / N\,
R Y %
HE P N - ~ N S/
< > K >
e - e -~ o

Figb8 - Enlarged Young-Old Apartment Section (Author,

2021)
— — s
N S s
\ S
/O e
/ e e

ARC517: Technical Design Project

Fig69 - Enlarged Young-Old Apartment Section (Author, 2021)

The floor finishes of each young-old apartment are
to be the same. The hall and bedrooms are to be
fitted with 6.5mm Nylon Burmatex Tivoli carpet
tiles. These spaces will also have planted softwood
timber skirting running along the perimeter. The
bathroom and living room/kitchen will be fitted
with differing non-slip vinyl. The edges of the
bathroom will have a coved skirting.

39

Stage 4: Written Illustrated Report



2.E.5 Typical Studio as Wheelchair Accessible

1010

310
KON
o
BE-S. RAB
athrd
3 m? @
34 0 5F

ARC517: Technical Design Project

B5.RAA

Living Room/Kitchen
28 m?*
3107 5F

B5 RAC
Storage
311mS-F

13320

1410

1330

40

As requested within the project brief, the RA studio
has a sleeping alcove within its semi open floor
plan. The bed will be surrounded by the versatile
GypWall system, as mentioned previously. There is
also a storage cupboard provided behind a sliding
door.

Fig70 - Enlarged RA Studio Plan (Author, 2021)

Stage 4: Written Illustrated Report



41

Enlarged Elevations

2.F

i
e

e
kR R

btk

Fig71 - Enlarged Entrance Elevation (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



42

ININNAN

1NN

Fig72 - Enlarged Facade/Balcony Elevation (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



43

Fig73 - Enlarged Terrace Elevation (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



2.G

2.G.1

Four Independently Developed Plan-Section-3D Components

External Cladding and Glazing

The glazing used within this system will be the Schuco AWS70 PPC aluminium
window system. It will be supported off SFS metal studs. Around the window there
will be 18mm thick birch veneered plywood window linings and sill boards. The
overall glazing system must achieve uniformly distributed loads in accordance with
BS EN 1991-1-1:2002. Additionally, there will be EDPM fully lapped and fixed back
by a vapour control layer around these structural openings.

The rainscreen facade has many various elements that has to be designed correctly
in order for the system to perform as intended. The facade is a terra cotta ceramic,
supplied from NBK, that will be held in place by support plates which are clamped
to a horizontal rail system. The railing system is supported by adjustable rainscreen
bracketry fixed back to SFS metal studs. Also, within the wall makeup, there will be
two layers of mineral wool insulation, each side of a CP board. On the internal side
there will be 2 layers of soundbloc plasterboard which will be taped and sealed.

In terms of fire design, there will be an open state cavity barrier present at each
floor level as well as horizontal cavity barriers between compartment zones. All
cavity barriers should be placed correctly in these instances. If they were incorrectly
placed the barriers would fail to carry out their purpose. Detailed information can
be found within BS 8414 regarding the fire performance of external cladding
systems.

Fig74 - Ceramic Facade Elements (NBK, 2019)

ARC517: Technical Design Project

7
7

Ay

/"f:"-
A

|

7

2

VI

/i

b

G,
947

Yo V5

40

/

w4,

/

» -~y -
‘/
J
=

T

VY

i

W

’. ,g'.i'..

OB Lo

Vi

o

{

ooy

2

JIJ}/

i

44

Fig75 - 3D External Fagade and Glazing (Author, 2021)

Stage 4: Written Illustrated Report



363

610

610

25 _
Structural Defeetion . 7 - ==

Fig76 - Parapet Detail (Author, 2021)

610

585

ARC517: Technical Design Project

Damp Proof Course

Full Fill Insulation
Plywood Parapet Closer Board

Steelwork With PFC Coping

Rainscreen support bracket to SFS Metal S

Rigid Insulation

Rainscreen Support Plates Attached to
Horizontal Rail System

Brether Membrane

Single Fire Glazed Ceramic Rainscreen Cla
Vapour Control Layer
Steekwork Parapet Upstand

CP Board
SFS Metal Stud

Precast Structural Slab

Open State Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard taped, filled
and painted

Mineral Wool Insulation

2493

25 :
Structural Defle-:’ti-:-r!" S le

E[ZIDL_IHLQ'E]u__lL_MﬁTﬁ] =~

&10

Fig77 - Parapet Detail 2 (Author, 2021)

45

Full Fill Insulation
Plywood Parapet Closer Board

Steelwork With PFC Coping

Rainscreen support bracket to SFS Metal Stud

Rigid Insulation

Rainscreen Support Plates Attached to

Hnrizontal Rail System
CP Board

Brether Membrane

single Fire Glazed Ceramic Rainscreen Cladding
WVapour Control Layer

Steekwork Parapet Upstand

Mineral Wool Insulation

—— SFS Metal Stud

Frecast Structural Slab

Open State Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard taped, filled
and painted

Window Lining

PPC Aluminium Window Walling System
Suppported off SFS Metal Stud

Stage 4: Written Illustrated Report



484

1 —F

J—

R

%P

T

Rainscreen Support Plates Attach
Horizontal Rail System

Mineral Wool Insulation
Brether Membrane

Rainscreen support bracket to SF
Single Fire Glazed Ceramic Rains

Vapour Control Layer

SFS Metal Stud
CP Board

Precast Structural Slab

Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard tz
and painted

Mineral Wool Insulation

Ibstock Brick System

Fig78 - Facade Detail (Author, 2021)

ARC517: Technical Design Project

362

-

-
]

1

/ ..
T_ -
=3
=

A

. o
. & .
n . .
I
b P T
! . . . -'-.'a.
L o .
N A
" T T
& e
AT = W=t frp= R
Tt L o W
I T L L S I P PO T 5 T —h Tt
- - - ) - =3 - -

H 9 A A o T W O

510

-
£

Fig79 - Facade Detail 2 (Author, 2021)

46

PPC Aluminium Window Walling System
Suppported off SFS Metal Stud

Window Lining and Sill Board

EPDM

Rainscreen Support Plates Attached to
Horizontal Rail System

Rainscreen support bracket to SFS Metal Stud

Single Fire Glazed Ceramic Rainscreen Cladding

Vapour Control Layer

SFS Metal Stud
CP Board

Precast Structural Slab

Open State Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard taped, filled
and painted

Mineral Wool Insulation

Ibstock Brick System

Brether Membrane

Stage 4: Written Illustrated Report



3en

£

A

-

A Ve,
. o o Pwr—
. . ' . -

R S T
PR | B |

O —
. ‘u -
L
Y T
. R
- R . PR
m R —
[ . T

25 =
Structural Deflection”; ..

380

Vapour Control Layer

Mineral Wool Insulation
SFS Metal Stud

CP Board

Spandrel Panel
Precast Structural Slab

Cavity Barrier Fire Stopping
EPDM

Window Lining and Sill Board

PPC Aluminium Window
Walling System Suppported
off SFS Metal Stud

Fig80 - Spandrel Panel Detail (Author, 2021)

ARC517: Technical Design Project

585

25 .
Structural Deflection= ", '_ e

Fig81 - Facade Detail (Author, 2021)

47

Rainscreen support bracket to SFS Metal Stud

Mineral Wool Insulation

Rainscreen Support Plates Attached to
Horizontal Rail System

Brether Membrane

Single Fire Glazed Ceramic Rainscreen Cladding

Vapour Control Layer

CP Board

SFS Metal Stud

Precast Structural Slab

Open State Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard taped, filled
and painted

Stage 4: Written Illustrated Report



48

2.G.2 Balcony and Terrace Components

Each student residential suite must have access to an external
balcony from their common living room/kitchen. With external
balconies come a range of design issues. The Schock Isokorb T type
sk steel balcony system was specified because of its unique
approach to dealing with these issues. The materials that are used
in most balconies have higher thermal conductivity values. If a
balcony has direct contact with the building structure, serious
thermal bridging will occur. This system has 80mm of thermal
insulation in between these two surfaces, which provides the area
with a thermal break.

il

PRty

This system has several working parts. Product elements include the
insulation element, a load plate, tension, shear and compression
bars and levelling shims. The loads and deflection rates should be
calculated by a structural engineer. There is a host of British
standards which must be following when installing this system.
Firstly, when calculated evenly distributed loads, BS EN 1991-1-1-1
should be referred to. The amount of concrete cover should match
the requirements set my BS EN 1992-2-2. Calculation of deflection
rates should be in accordance with BS 8500 (Shock, 2020).

The finishes of the balcony are as follows. There will be a grooved
Ecodek Reversible Composite decking board laid on top of the steel
structure. There will also be a royal chrome anodized Balconette
glass balustrade orbit system running along the permitter of the
balcony (Balconette, 2021).

Fig82 - 3D Balcony (Author, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



510

CP Board

Mineral W ool Insulation

|dealcombi Thermally Broken Door

ﬁ Wooden Decking

Schock Isokorb® T type SK Steel Balcony

Precast Structural Slab

l =10
+

=

Open State Cavity Barrier Fire Stopping

f
| N

2 layer Soundbloc Plasterboard taped, filled
and painted

Ibstock Brick System

Fig83 - Balcony Detail (Author, 2021)

ARC517: Technical Design Project

1425

49

/,%/I/ T 1T T
i s //V E
i B 1 A//

Fig84 - Balcony Elevation (Author, 2021)

Stage 4: Written Illustrated Report




Fig85 - 3D Terrace (Author, 2021)

Each young-old apartment within the building requires their own covered terrace space.
Due to the increased size of these, compared to the student balconies, and the fact that
they are more built into the building, it was decided that a concrete structure would work
best. Therefore, the Schock Isokorb T type D was specified. This system has the same
thermal benefits as the type sk. However, it enables the terrace to be a continuous concrete
floor, with the inclusion of an 80mm insulated thermal break. Both systems are BBA certified
and have a fire resistance class of REI120 (Schock, 2020).

ARC517: Technical Design Project

CFP Board

=

| T

Fig86 - Terrace Detail (Author, 2021)

50

Mineral Wool Insulation

Idealcombi Thermally Broken Doar

Schock lsokorb® T type D
Concrete Temmace

Precast Structural Slab
Open State Cavity Barrier Fire Stopping

2 layer Soundbloc Plasterboard taped, filled
and painted

Ibstock Brick System

Stage 4: Written Illustrated Report



2.G.3 Specialist External Area

Sl

Filtar Shaat

Drairsays Ty
Braativr Membrang —
Flirieral W PR 0 e e et e e e e ]

Wapedr Control Lagar —

Fracast Strichiral Rocd —

Coi by Tk

Siaivess Sianl Raliveg —s

B

i

Wy

1

i

/)

|

;

Wil

A

ke

Sine el abici b

Ful Fill Insualian
Fiywoed Pampal Clossr Bogrd

Z layer Sodarwlod: Plaster boand taged, Tiled

i o bl

Bliadus Menbrana

Sivegx Firg Olarad Caramic Ranacwan Claddng

Ataakvenrh Parapet Ligstand
Bali rviaraal ‘Wecl B bl 4
CF Baand

Vapcir Cordrol Latar

|——— R iacrean Sugpen Plalas Altached 1
!

Her Ranial Fad Syaben
Praatas] Sreichursl Skan

Lising

FPC A niam Windew Waling Syaten
Bupppeitad off SFS Malal Sid

-i.rl.l

/)
!

Lireng and S| Bosnd

Sapor Condrol Lasgar

I

I"'.'

LA Tl T T

l.i'i-!i

M

)

A

CF Baand

drad Pane

)

Fracast Siruchural Slah

-'J'.

]

Canity Bamar Fira Slopping

T

Fig87 - Green Roof Detail (Author, 2021)

ARC517: Technical Design Project

EPDOK

FPC A n i Window
Wiadlreg Syaiam Supapadiad
off 3FE Milal Stud

51

o

=

Fig88 - 3D Green Roof (Author, 2021)

The building has an intensive green roof on level 02, which residents can access.
When designing this aspect, it was important that the meeting of the green roof
and fagade system was properly thought out. The Bauder turfed intensive green
roof system was specified. As seen within the details, there are various parts to
this system, one of which is the drainage tray which enables storm water
management. Along with the environmental benefits, such as the natural
insulation this system provides, all the protection, filtration layers, drainage
boards and substrates can utilise recycled materials (Bauder, 2021).

Stage 4: Written Illustrated Report



52

Stainless Steel Railing —
Full Fill Insulation
Plywood Parapet Closer Board

Stone

2 layer Soundbloc Plasterboard taped, filled
and painted

{
l Brether Membrane

]}* Single Fire Glazed Ceramic Rainscreen Cladding
n‘" Steekwork Parapet Upstand

7 Mineral Wool Insulation
CP Board

Vapour Control Layer

Trim —4

Soil

Filter Sheet

i

Drainage Tray

Breather Membrane

Mineral Wool Insulation —

Vapour Control Layer —

Rainscreen Support Plates Attached to
Horizontal Rail System
Precast Structural Slab

Precast Structural Roof

L =

Ceiling Tile

e 2
"'_‘ .q
R g
;'.I'.‘:“:.a.' .....;- I.- _'
% [
Structural Deflection: © * e
L £
b
I>.<
B
|

Window Lining

PPC Aluminium Window Walling System
Suppported off SF5 Metal Stud

Fig89 - Green Roof Enlarged Detail (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



Soil

Filter Sheet

-]

Drainage Tray

Breather Membrane

Mineral Wool Insulation

Precast Structural Roof —

ARC517: Technical Design Project

o - I_"'

Fig90 - Drainage System (Author, 2021)

As mentioned, within the green roof there is a grey water drainage system. This
detail gives a closer look at how that will be installed. The drainage runs through
the floor slab and heads towards a commercial scale grey water treatment system
stored within the large ground plant room. This system will provide a host of
environmental benefits including, freshwater conservation, less water wastage and

reduced energy consumption (Conserve Energy Future, 2021).

53

Stone
Perforated Trim

Bauder
Green Roof
Drainage

Vapour Control Layer

Stage 4: Written Illustrated Report



2.G4

The office spaces and social
areas located on the first floor
will  utilise an underfloor
ventilation system. The
Kingspan RMG600  Raised
access floor panels will be
specified in these areas. The
design of this flooring should be
in accordance with EN13501
Parts 1 and 2. With raised floors
comes the challenge of proper
fire design. This system has a
class 0 BS476 fire rating.

ARC517: Technical Design Project

Specialist Internal component

Y

Cailing Hangar Wire —t
h

Warm Air Exhaest {[

Cald Air Supply Carpet Tile Floor Finish

Lircoa N ee o NP R e A P e L e N e e R e c N e

1At E LA R A A A R Ak E A A A e kL A A e LA A ek E A Ak R A A At E L A k|

/

Cailing Tile

HAF Fire Barier

Prdesta

—_—

A

54

‘Wnmdow Liniregg ared Sill Boged

Wapour Control Layer

flimzral Wool Insdaton

CF Baard

Spandirel Panc

Pracast Stnectural Slak

Fig91 - Raised Floor Detail (Author, 2021)

Cavity Barier Fire Stopping
EFOM
FPFC Alurmirmam YW ircow

‘Walling System Suppparted
aff 5FS Maetal Stsd

Stage 4: Written Illustrated Report



, - 500
Carpet Tile Floor Finish o
¥ L ] = '
5 I
©
RAF Fire Barrier —5+— el e L e

(=]

Ceiling Tile —9-—l

Fig92 - Fire Barrier Detail (Author, 2021)

The Kingspan RMG600 Raised Access system has
been tested for fire performance. The system was
tested against in accordance with BS476-6 & BS476-

7 (Kingspan. 2021).

ARC517: Technical Design Project

Pedestal

Precast Structural Slab

Ceiling Hanger Wire

Within raised access floor systems, it is
important to ensure that sufficient fire barriers
are installed. A foiled faced Rockwool fire and
smoke barrier will be placed. These barriers will
provide up to 2 hours of fire protection and will
reduce airborne sound transmission within the
spaces. They fully comply with BS 476.

Fig93 - 3D Raised floor (Author, 2021)

55

Stage 4: Written Illustrated Report



56

Fig94 - 3D Raised floor (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



57

3.0 Health and Safety

Structural wall

——

— Cwparimant o

el pr Guidance

External cladding

Fire rapidly
progresses
through narrow
air cavity

When considering fire design, the key
regulations are to be found within BS 9991:
2015. This document fully sets out the four
different aspects of fire design, which are:

Internal fire breaking through
'y window and interacting with
external envelope

e Means of Escape
e Internal Fire Spread

Technical E
Booklet

e External Fire Spread
e Access/facilities for fire fighting

Fig95 - Rainscreen Fire Egress (FSC1, 2021)

Additional guidance on these aspects can also Fire safety
be found within Technical booklet E. Typical

design considerations which has affected the

October 2012

approach of the overall building design include: O i

e Height of Building
e Building use . E:
e Building location

BSI Standards Publication

Fig96 - BS 9991:2015 (British Standards. 2015)
Fire safety in the design,

management and use of

residential buildings -
require proper fire consideration. Within each Code of practice

section of this report, references has been
made to relevant challenges and the necessary
building regulations which relate to the various
elements.

Within the design of the intergenerational
housing scheme there are many aspects which

bsi.

Fig97 - BS 9991:2015 (British Standards, 2015) Fig98 - Building Fire (Designing Buildings Wiki, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



3.A GA Fire Egress Drawing

ARC517: Technical Design Project

58

1300

Fig99 - GA Fire Egress Plan (Author, 2021)

This is the typical residential floor plan of the
building. Distances to the fire protected lobbies,
from the furthest points, have been noted.

Stage 4: Written Illustrated Report



59

3.B Enlarged Fire Lift Core Plan & Sections

2-hour minimum fire-
resistant walls

Firefighting Stair Firefighting Lift

22 m* l

2324 SF .,==1

30-Minute Fire Door

a
LS

When designing the fire lift core, BS 9999:2017
was referred to. Within this space there had to
be a firefighting lift along with an escape stair.
The floor plan provided shows the protected
area at access level, north side of the building.
This layout was informed by figure 24 within BS
9999: 2017. Required elements include:

—
0
—
o
b
oo
[=Y
4
1
©
Fa
1.

A
@ ! e 60-minute fire door with a smoke seal
K AG.2 which provides access to the circulation
Lobb space within the building
Fire Main 9 m? . . .
99 1 SE e 30-minute fire door with a smoke seal
which provides access to the fire lobby
60-Minute Fire Door e Fire main provided within lobby
e Firefighting lift
e 2-hour minimum fire-resistant walls
] 1810

Fig100 - Enlarged Fire Core Plan (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



60

ARC517: Technical Design Project

Figl101 - Enlarged Fire Core Section (Author, 2021)

Fig102 - Enlarged Fire Core Section (Author, 2021)

Stage 4: Written Illustrated Report



61

4.0 Environment and Sustainability

4.A Overview of Applicable Sustainable Elements

Green Roof

The natural insulation green roofs provide
will have a positive effect to the building’s
energy costs. The grey water drainage is
also a sustainable feature within this
system.

Rainscreen Facade

The rainscreen ceramic and brick facade
will allow the thermal insulation to be
fixed to the outside of the building. This
will decrease the chances of any thermal
bridges from occurring, which will
prevent mould and condensation. This
will ultimately improve the buildings
thermal performance.

Raised Floor System

The raised floor ventilation system, which
is incorporated into the design of the first
floor, will require less air volume, fan
power and the temperature of supply air
can also be lower than traditional
methods.

=

I"; Il T 1‘

3 1
i |

5

|13

|
R

=

=
S

\

R

[

Sy —

Fig104 - Raised Floor Detail (Author, 2021) Figl105 - Balcony/fagade Model (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



4.B Evidence of Research and Testing

JRuN

I
|

180

115

70
—t

‘ 15] 80 65 | ‘ ‘ 3

3
uA

Fig107 - FireWall (British Gypsum, 2021)

Fig108 - Inspection Chamber (Bauder, 2021)

i |

Cutcioor :
= " Condensing Lnit g
it | /
.l At
I 1 ’ Vi
@\ Cazsette Type 7
Fan Cail Linit P
06 Ton ) p
Room 2 Ducted Indoor Unit - _ }, 7
Reom 1 2 Ton |
Fig110 - VRF System (CED Engineering, 2014) Figl11 - Vertical Installation (NBK, 2021)

ARC517: Technical Design Project

62

Several manufacturers literature was
referred to when designing components
across the building. Their documentation
was read to gain an understanding of the
products. This helped when
implementing them into technical details.

Documentation used for research include:

e Technical Information Schock
Isokorb T type SK

e Technical Information Schock
Isokorb T type D

e White Book C04 S02 GypWall
Classic

e White Book CO5 S03 Specialist
Partitions FireWall

e Bauder Green Roof System
Brochure

e CED Engineering HVAC Variable
Refrigerant Flow Systems

e |bstock Mechslip Technical Guide

e NBK Architectural Terra Cotta

Stage 4: Written Illustrated Report



4.C

Before Specifying a product for the project, a review of their environmental and
sustainable attributes was undertaken. This involved sourcing product
technical booklets and, in some cases, inspecting Environmental Product
Declaration (EPD) documentation. All EPD documentation published by
manufactures must be in accordance with 1ISO 14025 and EN 15804. With the
information which they provide, it gave the designer a better understanding of

Illustrated Statement on Services and Specifications

what environmental impacts will occur from the specification products.

LCA: Results

63

12. Recycling
Despite the potential longevity of fired clay products, they are sometimes demolished well before the end of their
useful life.
The following are possible uses for recycled clay building materials:

+ Reclaim and re-use.

« Filling and stabilising material for infrastructure works.

+ Aggregates for in-situ and precast concrete and mortars.
The majority of the aluminium used in carrier and support rail extrusions is from recycled sources and can be
recycled by a licenced company.

'Adaptable building’ is used to describe a structure that has the ability to be modified or extended at minimum cost to
suit the changing needs of the people using the structure. Thoughtful design can provide the flexibility for these
needs to be met without requiring expensive and energy intensive renovations. The ease of assembly and
disassembly of the MechSlip system components means a structure can be re-shaped or extended incorporating the
re-use of the MechSlip system.

Fig112 - Mechslip Recyclability (Ibstock Brick, 2021)

Phaca ol the Ia:jssmnw;ﬁha
Preduction stage erection of the Use slage Disposal slage s:ram
builiding boundaries
o = g |-
§ ? [Cog 8 : | 5|8 | 5|8 £ o3
Tl SB[ 8 e BB E 0822 B2
! 5 : 5 2 E
E|Z|Sgs 8|3 |2 | 5|2|%2|388 3 |82|¢|¢ i fg
E|r- | 5 [258 < 2 &' 2 | & = E 2~ | & | B §T
= = 8% & E z ] z g‘
&£ = g = [
Al | A2 A4 A5 B1 B2 B3 B4 BS B& B7 c1 c2 C3 C4 D
X X X |MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | MND | X X X
Parameter Unit Al-A3 c3 c4 e}
‘Global warming potential [kg CO.-Eq.] 80.51 0.00 1.52 -16.07
Depletion potential of the stratospheric ozone layer [kg CFC11-Eq.] A.69E-0 0L00E+0 1.70E-11 4. T4E-9
Acidification potential of land and water [ka 50.-Eq ] 2.03E-1 0.00E+0 6.30E-3 -7.05E-2
Eutrophication potential [kg (PO} -Eq.] 1.T4E-2 OLOOE+0 B.TOEA -i.69E-3
Formation potential of troposphernic ozone [kg ethene-Enq.] 1.50E-2 0LO0E+D 6.00E-4 -4 .43E-3
Abiotic depletion potential for non-fossil resources [kg Sb-Eq.] 2 TEE-4 0L00E+D 3.092E-7 -6.08E-5
Abiotic depletion potential for fessil resources [ 1266.10 0.00 13.73 -170.74
Parameter Unit A1-A3 c3 C4 D
Renewable primary energy &8 enargy carmier ] 125.55 0.00 0.00 0.00
Renewable primary energy resources as material utilization | [MJ] 232 0.00 0.00 0.00
Total use of renewable primary energy resources W] 127.87 0.00 141 -52.00
Mon-renewable primary energy as enangy carmier [hid] 1360 44 0.00 0.00 0.00
Non-renewsable primary energy &s maternial utilization ] 1.46 0.00 0.00 0.00
Total use of non-renewable primary energy resources ] 1361.90 0.00 14.31 215.05
Use of secondary matarial ka] 18.30 0.00 0.00 0.00
Use of renewable secondary fuals L] 0.00 0.00 0.00 0.00
Use of non-remewsable secondany fusls ] 0.00 0.00 0.00 0.00
Use of net fresh water [m?] 2.20E-1 0.00E+0 3.71E-3 -1.38E-1
Parameter Unit A1-A3 c3 Cc4 D
Hazardous waste disposad [ka] 3.32E-4 0.00E+0 4.45E-6 -5.98E-5
Non-hazardous waste disposed kg 6.15 0.00 B5.12 =341
Radicactive waste disposed ) 3.80E-2 0.00E +0 2. 20E-4 -1.75E-2
Components for re-use kg 0.00 0.00 0.00 0.00
Matarials for recycling [ka] 0.00 207 0.00 0.00
Matarials for enargy recovery [ka] 0.00 0.00 0.00 0.00
Exported electrical energy ] 0.00 0.00 0.00 0.00
Exported thermal energy ] 0.00 0.00 0.00 0.00

_ ENVIRONBMENTAL INDICATORS AND INTERPRETATION
- g I‘Ja-::ﬁ'}mus i . . .
‘ e rtl fl cate frv et Environmental indicator results for the Al - A3 modules an an aggregated basis are shown in the four following
Rhainsirale 4448 tables for the declared unit of 1m® of RMG Alpha V' Raised Access Floaring System, with and without stringers.
wialid il 34123034 D-£4283 Darmstad!
Balcony connection
Glabal warming potential® [SWF) g 0o 5.20E+D0 5.80e+01
Low Thermal Bridge Schbck leokorbET T!I'P 50 und SK Despletion potential af the strabnspheric arone layer [ODP) g CFC11.eq 4.35E-05 4.75E-08&
Construction 220 mm =lab thickness Ackdification potential of kand and water (AF) kg 50:-eq 5.33E-01 7.53E-00
. . Eutroghication potential [EF) g POy " -eg 1.34E-01 1.45E-0i8
Manufacturer: Schick Bauteile GmbH Formation potential of troposphenc ozome photochemical coldants g 278507 110603
Vimbucher Str. 2 76354 Baden-Baden [FOCP) - . E
. . . . . Abictic depketion potential for non-foss i resowrces (ADPE iy Sheeq 3.17E-02 3.39E-03
The following criteria were used in awarding this certificate: = - ! 8
. . Albiotic depletion potentlal for foxsll resownces {RDFFF) (1 2.0E+D2 B.ATEHIR
Efficiency Crilsrion
; 2 ) * Do nat inchude biagenic L0y talen up in wood; see addtional informration
i D Dyl applcations ©, T CofEPuclion achiives T reguinsment of -
AlUyg = 0.025  WI{mK)
Lomion Crleton
Th inner su Macs Mist be wam encsgh o prevent mould as wel as unoomfcable down-drought and
radaion Keases
Bime » 1700 °C Renewable primary enengy as enengy carrier [PERE) (50 9. TREHDL 1.03EH13
Following heat transmission coofficients (% [W/(mk]]) Renewable primany energy resownces 3s maderial wiilization (PERM) L 1.50E+D2 1.90E+03
Total use of renewabie primary energy rescuroes MU 1BBE+D2 2.93E+02
Behbok |sokesb® Tyoe M. Tain pealu e of Tharmal keidge N
tha bnnar sarface | coafeiont g PAIK] Nonerenewabde primary energy as energy canier |PENRE] KU T15E+02 T.B5EHIZ
Bilmin ['C)
t3 '} 3.3 LE+H 3.32E+H11
TTh I o0 TEET ThET Hon-renewabde primary energy a5 material wiilzation [PENRR) (51
IT Ty BO-WE 320 184 QUDES Total use of non-renewable primary energy resounces MU TAZEHIQ B.1BEHI2
T Typ BE-M1Y1 220 1852 2,100
T Typ SH-MMZV 220 18.14 [(RE] Use of secondary miaterial (Sh4) kg T SaE+ DD B.25E+00i
T crilirioen wiis vaboabed on Both. @ row Do and & apatment deselin
T cartificaie m:m.-s Dypas Wil MG s'.alulpc-rn-'r:n:cl N Use of renewable secondany fuels (RSF) [E1] Ol DiE + D 0. 00E +00
Use of non-renewable secondany fusls (NRSF] ET] DO.OOE+DD 0. DOE+0D
Use of met fresh warter [P m 1 DSE+DD 1. 14E+0D
i
— L E
: ﬂw “ergy Hazardous waete olspased [HW) kg B ASE+DD §.59E+00
= CDI | IpDnEnt Nom-hazardous waste disposed [NHW) kg A 1BE+OL 4.8EE+I1
Radicactive waste disposed (RW) g 2.05E-03 ZZ1E-03

Figl13 - Ceramic Facade EPD (NBK, 2016)

ARC517: Technical Design Project

Figl14 - Passive House Certificate (NBK, 2021)

Figl15 - Raised Floor EPD (Kingspan, 2021)

Stage 4: Written Illustrated Report




5.0 Performance and Durability

5.A Outline Specification

The following is a selection of products specified within the project and mentioned within this report.

64

Product Type: Product Name: NBS Reference: Uniclass Code:
Floors Tetra Ceramic Tile 45-895/310 Pr_ 35 93 96_19
INTRAlux Ultima Entrance Matting 45-35-35/410 Pr 35 57_11 26
Burmatex Tivoli carpet tiles 45-20-15/380 Pr 35 57 11 62
Ecodek Reversible Composite Decking Board 45-45-95/385 n/a
Kingspan RMG600 Raised Access Floor Panels 45-45-00/320 Pr 25 71 42 70
Siderise RF Fire Stop for Raised Access Floors 45-45-70/427 Pr_25 80_81 51
Ceilings Rockfon Koral ceiling tiles 45-80-40/330 Pr 35 93 13 53
Rockfon Blanke Activity 45-80-40/330 Pr 35 93 13 53
Doors Kudos Sliding Folding Partition 25-50-20/185 Ss_25-30-_20_80
Postformed Double Swing Doorset 45-25-28/342 Pr 30_59 24 16
Postformed One and Half Pair 45-25-28/342 Pr 30_59 24 16
Postformed Single Doorset 45-25-28/342 Pr_30_59 24 16
Glazing SF52 Curtain Wall System n/a Ss_25 10 20 85
Schuco AWS70 PPC Aluminium Window System n/a n/a
Facade NBK Terrart Large Ceramic Facade n/a n/a
Ibstock Mechslip Grey clay Brick System 45-80-50/316 Pr 20 93 52 15
Green Roof Bauder Intensive Landscaping System 40-40-45/140 Ss_45 40_47_40
Balcony Schock Isokorb T type sk Steel Balcony System n/a n/a
Schock Isokorb T type D n/a n/a
Kitchen Units SieMatic Base Unit Cupboard 45-35-80/340 Pr 40 30_78 45
SieMatic Wall Cabinet with Hinge Door 45-35-80/340 Pr 40 30_78 45
SieMatic Sink Base Unit with Cupboard Doors 45-35-80/340 Pr 40 30_78 45

ARC517: Technical Design Project

Stage 4: Written Illustrated Report



65

5.B Testing and other Information

The specified materials had to have a positive effect on the energy and fabric
performance of the building. The integration of a rainscreen fagade will drastically
reduce energy costs. This is mostly thanks to the air cavity within the wall, which
creates a chimney effect. When the outside air temperature is high, the warm air is
lifted through the cavity and cooler air enters through the bottom. During colder
periods, the air is not lifted upwards. This helps the insulation layer keep the
warmed air within the building (Cupa Pizarras, 2019). Additionally, the insulation
layer is fixed to the external, preventing thermal bridges from occurring. This will

also benefit the buildings energy performance. ‘ g WA e

Multiple attempts to undertake a full energy performance analysis of the building,
using Insight, Fenestra Pro and Formit, were made. Due to hardware restrictions
these attempts were unsuccessful.

Vaimm Yom
TARY TEES AN

TAFY TANA

A

b
| —

.
TAFY AR

Vi

A —

—— ) — -
TEFY AR

3

a WS ) " A ¥
A = - . -
W), — — — - —

A Viama

L AL NG A BR A BR A Ba L N A L

'

AU Vaem Y vamm D vamm U vamm ) vamm U vaem U vamm 1 aem
R— 9

=

B

\’ /
1
) AR A YA, 7 VA A, Ve R e

Fig116 - Building Model (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



66

6.0 Bibliography

AIM. (2021) AIM RAISED ACCESS FLOOR FIRE BARRIER, Available at: http://www.aimlimited.co.uk/product/aim-raised-access-floor-fire-barrier/ (Accessed: 8th April 2021).

Ali Glass & Stainless. (2020) STAIRS, RAMPS & HANDRAILS, Available at: http://www.aliglassstainless.com.au/stairs-handrails--ramps.html (Accessed: 20th April 2021).

Balconette. (2021) GLASS BALUSTRADES, Available at: https://www.balconette.co.uk/qlass-balustrade/homepage (Accessed: 5th April 2021).

Bauder. (2021) Green Roofs, Ipswich: Bauder.

Bauder. (2021) Turfed intensive green roof, Available at: https://www.bauder.co.uk/qreen-roofs/intensive-qgreen-roofs/soft-and-hard-landscaping/turfed (Accessed: 6th April 2021).

BBC. (2020) Fears over student buildings across the UK after Bolton blaze, Available at: https.//www.bbc.co.uk/news/uk-england-manchester-50457593 (Accessed: 20th April 2021).

British Gypsum. (2019) C05. S03. P02 — PO8: FireWall, Loughborough: British Gypsum.

British Gypsum. (2021) C04. S02. P02 — P32: GypWall classic, Loughborough: British Gypsum.

British Gypsum. (2021) GypWall Classic, Available at: https://www.british-qypsum.com/white-book-system-selector/systems-overview/partitions/qypwall-classic ?tab0=0 (Accessed: 4th April 2021).

CED Engineering. (2014) HVAC Variable Refrigerant Flow Systems, New Jersey: CED Engineering.

Cupa Pizarras. (2019) What is a rainscreen cladding system and what are the advantages?, Available at: https://www.cupapizarras.com/uk/news/what-is-rainscreen-cladding-advantages/ (Accessed: 26th April
2021).

Conserve Energy Future. (2021) What is Greywater?, Available at: https://www.conserve-enerqy-future.com/ways-and-benefits-of-using-qgreywater.php (Accessed: 6th April 2021).

Daikin. (2021) VRV Ceiling Mounted Duct Medium- Static, Available at: https.//daikinlatam.com/product/vrv-ceiling-mounted-duct-medium-static/ (Accessed: 4th April 2021).

Designing Buildings Wiki. (2021) Fire safety design, Available at: https://www.designingbuildings.co.uk/wiki/Fire safety design (Accessed: 8th April 2021).

Envirograf. (2021) Rainscreen Cavity Barrier (RSM), Available at: https://envirograf.com/product/rainscreen-cavity-barrier-range/ (Accessed: 26th April 2021).

ARC517: Technical Design Project Stage 4: Written lllustrated Report



FSC1. (2021) High Risk Residential Building (HRRB) Inspections, Available at: https.//www.fsc1.co.uk/compartmentation-survey/ (Accessed: 7th April 2021).

Google. (2021) Google Maps, Available at: https://www.google.co.uk/maps/@54.5985038,-5.9145414,15.75z (Accessed: 5th April 2021).

HVG Facades. (2021) Rainscreen Cladding & Rear Ventilated Facade System, Available at: https://hvgfacades.com.au/rainscreen-cladding/ (Accessed: 21st April 2021).

Ibstock Brick. (2018) Mechslip, Ibstock: Ibstock Kevington.

IPHA. (2020) What is a Thermal Bridge?, Available at: https://blog.passivehouse-international.org/what-is-a-thermal-bridge/ (Accessed: 20th April 2021).

Kingspan. (2021) RMG600 System, Available at: https://www.kingspan.com/qb/en-gb/products/access-floor-systems/medium-qgrade-access-floor/rmg600-system (Accessed: 15th April 2021).

NBK. (2016) ENVIRONMENTAL PRODUCT DECLARATION: TERRART® ceramic fa¢ade panels, Berlin: Institut Bauen und Umwelt e.V. (IBU).

NBK. (2020) Architectural Terra Cotta, Dodnor: NBK.

Obex. (2018) WHAT IS EPDM? EVERYTHING YOU NEED TO KNOW, Available at: https://obexuk.com/what-is-epdm/ (Accessed: 9th April 2021).

Promat. (2020) Fire Partitions — Keeping the Fire Where It Is, Available at: https://www.promat-india.com/en/about-passive-fire-protection/products-and-application/fire-protective-partitions (Accessed: 10th April
2021).

Schock. (2021) Schéck Isokorb® T type D, Available at: https://www.schoeck.com/en-gb/isokorb-t-type-d (Accessed: 5th April 2021).

Schock. (2021) Schéck Isokorb® T type SK/SQ. Connecting steel and timber to reinforced concrete., Available at: https://www.schoeck.com/en-gb/isokorb-t-type-sk-sq (Accessed: 9th April 2021).

Service Master. (2020) WATER DAMAGE FROM SPRINKLER SYSTEMS: 4 DOS AND DON’TS, Available at: https.//www.servicemasterbyzaba.com/blog/water-damage-from-sprinkler-systems/ (Accessed: 20th April
2021).

Speedclad. (2019) Chamberlain Hall Student Residences, Available at: https://www.speedclad.co.uk/portfolio/chamberlain-hall-student-residences/ (Accessed: 9th November 2020).

67

ARC517: Technical Design Project Stage 4: Written lllustrated Report



Appendices

1.0

RIFF Reflection from Week 6

A comment was made regarding the
thickness of the members within the
glazed atrium space. The design of
these members was then changed to
match the specifications provided by

“SSS@DESIGN DEVELOPMENT PRESENTATION:

INTERGENERATIONAL
HOUSING

KYLE NUGENT

the manufacture.

When reviewing the buildings floor
plans it was noted that there was not a
sufficient firefighting shaft within the
building which met the related building
regulations. The floor plans were
altered to incorporate this facility.

ARC517: Technical Design Project

Nugent-k10@uisterac uk
Fig117 - Slide 1 (Author, 2021)
Typical Accommodation Level
ﬁ = | i [7] RrAstudio
D ..,3q3~,. = 5 Circulation
\ 5 = i are Young-Old Apartment

: NL’V "' w' F_J Vertical Circulation

““"3 Ell f‘?:» o D Staff Area
< A \_ 4 Bed Student Suite

Jnmn
.,».,@ il | 5BedStudent Suite
6 Bed Student Suite
N ;L"" e
oy

Fig 14: Third Floor Plan

_Management, Technical Design Project

Fig118 - Slide 2 (Author, 2021)

It was said that the layout of the Young-
old apartments worked well, however
the bathroom door within these spaces
should open outwards. This advice was
taken, and the plans were changed to
reflect this.

The colours at door thresholds between
rooms was commented on. Changes were
made to the floor plans to ensure that the
colours stop at threshold rather than
going into the door swing.

68

Stage 4: Written Illustrated Report



A comment regarding the placing of
cavity barriers was made. After this
presentation it was ensured that there
was sufficient cavity barriers between
apartments and around structural
openings such as the curtain wall
system.

ARC517: Technical Design Project

Elevation Detail Key

=
"
1.Rainscrzen S
Cladding e
Facade
==
"
du=
1
==
-
I
L
L
2.Green Roof e
| Parapet 5
4
b ;
- :
e

Fg 15 Souh Elcastne

BSc (Hons) Architectural Technology &
Management, Technical Design Project

1. Rainscreen Cladding Fagade

Develapment of the terracotta ceramic
rainscreen fagade began with lkooking at how it
meets with brick {north elevation).

Fire protection within the rainscreen cavity had
to be considered. At each floor level an open
state cavity barrier will be present to allow far

ventilation to occur.

BSc (Hons) Architectural Technology &
Management, Technical Design Project

S N ——

Fig119 - Slide 3 (Author, 2021)

I ll[ll ]‘]V[.I[ ],_.‘_'_ T._‘""

00N

I
B IBBE

=
{
1

,
KTy
iy

i
i |
|
17 1 [’.J: I
JJIIHI]'[ 155
L

A RN

iy

i}

RN

|

Fig120 - Slide 4 (Author, 2021)

3.Raised floor
Ventilation
Strategy

Nugent-k10@ulsterac.uk

'Nn‘geni—k!(_)@u!sienac.uk'

It was suggested that all the details
were not fully consistent to each other
within the RIFF presentation. After this
event, a detailed look at the facade
details was undertaken. This involved a
greater look into the presence of
upstands and downstands.

69

Stage 4: Written Illustrated Report



70

2. Green Roof / Parapet

,‘
\
i
B

_—— e e -

It was mentioned that further research
into water drainage from the green
roof could be done. As seen within the
report, this aspect was addressed with
the inclusion of a grey water drainage
system.

'."‘-;«
{11
i
i
[

}

-

It was directed that a handrail would
need to be fitted to the upstand of the AR LB
structure. A stainless-steel railing was !
then incorporated into the design of
the green roof parapet. It was set at 15

degrees off the 90. This angle ensured ===
that the railing would not be visible
from ground level whilst also keeping
people, located on the level 02 green
space, back from the edge.

208
(Lt

Fig 1% Sacand Floce fod Gandas

A1)
2
e

|

The design of the intensive green roof was developed
T ——— 5 from sketch to detail. Manufacture’s guidance w
referred to when gaining system dimensions.

Fg 18: Groen Roxt ) Parinped Dot

Fg 30: Grawn Roet Servple Fig 21 Moad ) Puesapet Shadch

*-é,)b(l.‘-‘ et Nugent-ki0@uisteracuk

Figl121 - Slide 5 (Author, 2021)

3. Raised Floor Yentilation Strategy

By using a raised floor
iplenum) ventilation

It was suggested that the Robust detail
document would be useful for the
design of the raised floor system. After
reading this document it informed how
the acoustics would be managed, for
example a fire barrier, which has great
acoustic properties, was later specified
within the design.

ARC517: Technical Design Project

systarm, it reducas the
need far large
averfizad duct work.
It drastically reduces
the armaunt of
materials needed to
cool a space, which
ultimately leads to
educed construction

In wse, OECUpants
hawe conkra adjust
supply  in o imd Mgzl

areas, impraving £
averall comfort level
of the spaces.

 B5¢ (Hons) Architectural Technology 2
 Management, Technical Design Project

Fig123 - Slide 6 (Author, 2021)

Figg 2 Pl b Bk g Dk

At the time of the presentation, the
underfloor heating system was
intended to be used across the
building, including residential spaces.
However, feedback from this
presentation indicated that it should
only be installed within the office and
social spaces on the lower floors due to
a number of reasons. With that change
of design, a new approach was needed
for the residential spaces, which can be
seen within this report.

Stage 4: Written Illustrated Report



71

2.0 Process Work

!
I - " -An.-:

.4,.?‘&"
[kt 1

"", = Y80/ w 5{4’,’7
I 4o WUX Siufin

o T

- Skl gyl pimen Had | .mm__
need ", X B W 7S
AL A
Fury  omparimpgttim
A,-m uting tr 1 Iiom ma(_ B

= P AT . . e

it

I

)
|

|
l

— = =
j _l U by dor uw - =¥
-t 2 — e ——— e
l
Fig124 - Week 2 Tutorial Notes (Author, 2021) Fig125 - Week 3 Tutorial Notes (Author, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



ARC517: Technical Design Project

Fig126 - Week 4 Tutorial Notes (Author, 2021)

72

Fig127 - Week 5 Part 1 Tutorial Notes (Author, 2021)

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

Fig128 - Week 5 Part 2 Tutorial Notes (Author, 2021)

73

i Wiy i
7 4y Lok

= e oA - ”(/Ad:
S b«frﬁ feed  sizor
1] WA

Fig129 - Week 7 Tutorial Notes (Author, 2021)

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

Fig130 - Week 9 Tutorial Notes (Author, 2021)

Fig131 - Week 12 Tutorial Notes (Author, 2021)

74

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

75

Stage 4: Written Illustrated Report



76

I | Al | |5 A I

.
\
A

[ ]
B

L

PRI

Ll

Fig133 - Rainscreen Brick Plan Detail (Author, 2021)

Fig134 - Rainscreen Ceramic Plan Detail (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



77

- .
g e
..... ..—.-.-

.,..t‘:. | .
T '8
AAAAALNAA

:a%% .

.

. % .
L XTI IAREK,
4% 000N

Y,y "' v

1y
) y 1)
_

 m— DR A
P VA VXA

O B )

Ny

.
— I
.

2021)

7’

Fig136 - Green Roof Sketch (Author

Fig135 - Parapet Sketch (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



Fig137 - Thermally Broken Capping around Structure Sketch (Author, 2021)

ARC517: Technical Design Project

%o R >
. EBs v %
2 S : » .
Yo", (TR
- . - "
o o =T H
. ol g
! 3
! f d .
- ' 4 A
~ —."“1 ‘Il"-'.".-
= o\ T
- Yy

)

\/

-

8

-~

N

.

A

"

=

\

-

9

\/

\

o

4

N

\

i

oA

\

W

N

"

.
.

'

78

Fig138 - Balcony Design Development (Author, 2021)

Stage 4: Written Illustrated Report



79

19 433
Ground Flant Room El.k-._ :-1.0.r5

T O = I

435
| kb

Sprinker | ank Room Comms

Circulstion

= ]
, ] 2

Consyit Rioogs

15
Win Storage

CCTV | onitcig

a3
L) Jooooy

|
I:l D [_] Fiod Exciosed I:‘ - 1 !_l ,
R&;Eimi-:-r ﬂ f
f

"l
-

[ L[ 25
| K] LF | | S::u'nl_'r_c_:n Araz C

o~
- . i A J
| Laundry firea | 138 o L{_ 134 5 || Parcal Store

Fig139 - Level 00 Mechanical Flow (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



80

(S | | 348 7
O - 4| Sars
— - T3 = g3
o B «} "
Congzunal N e CLFLL] | ni0 0 =8
Kitchenstte | -
S 345
11 e E] — w2
[“ Living RegornKitchen
d 333 —|_ — 15 8F
————e—— A |
A L= 5D
85 7 iy
3 4 = E 1 lmm
wu }:I'vl.; ¢ Tt f 190 sF |‘ —‘
12m* L EY TS EF S—
Jrobrd g
E g] f ':é_ 1-
L{ B 340
e T
S 2 D We ower
1104 BF! i WC + 5
55 174 m* E 10 m*
Function Room 18603 BF | 195,00 BF
— TEEEErrend
M4 Ll
Stairs
11 et IEEE
{ EEEL NORER 11
Ll
il 1 [
= ! rFEI 73 72
Sl Starage Storage
at & LE Am
B sl w bk TRAEF T
51 -
Social Hoom L AL S
S _ e n
pa M1
0 aatio 9
| &0 2 o
S840 5F EA‘ 45 8
£ “ AB Staft Hoom I
U w202 8F o 48 x i
511513;& Swwe_‘__ _— 44
v g 186.6 &F Mmaga'l::e_:tﬂ”ﬁns
52 \34“‘ = T g &F
H - —
Gym Storage |'7 # ‘fl_l (/_ﬂr_l === | |
1409 SF 7 | LR . 4 |-/l\ - H
!
- a4 = =
Gym - 47
£ EF 42
Staf ke &g Rigom Manag rs (Sfice
@ TETEF e
1 il ¥ F T " - ' AR

Fig140 - Level 01 Mechanical Flow (Author, 2021)

ARC517: Technical Design Project Stage 4: Written lllustrated Report



. TR 2 ! 20
130 158 L ] g ol
101 —E Beur_ _lrmm . - —— 122 ASF . . —
Living Riom/Kitchen u g;ﬂsr e 1 oF - FH | Aain L:-I::'-Elﬂm
26295 — { ik -
173 — 192 | 130 T - '
Beroor oty gt
v 1 5F 24357 24.35F 5 s GF 198
134 145 - miBs mincheny
frid Lobbry 1x3 Ryl
i ] | o & 5
g s 138= 3 .
" Hal il atnn g I at
187 L K ) - —
561 5F =
1apieagroom . 357 R i
-~ [e.X:13 - ner Room
. o T ]
. -~ 25,8 58 /_ — 723 5F
-
- 23 m* ! T
175 : ’3___ 2438 5F %?SI L 7
‘Badroam - : . Y En Loy
i A% 108 ' 183 170 - 1
¥ iz &, = S
o N h a6 5
8.5 55 2658 .
177 i1 % 1 L/ —
Bedrcom 2 : Living RogmiKitchen . | = === 474
BTN 25, 2% " . = B
BT 2 A0 F v o Kitchen )
178 - 132 . - 194 [Fees
EE_%TE-_:}M 13 . i nroom 150 Arooi
- I SF e L ] Bedroom
Bedrgom L

fire dre - 7 |
2 m 1zl mul 237 BF 11 5 5F whing smiichi

i 2.3 56 | 3

+8.5 3 o ] \ 131 :

184 Badroom
Batraom (L, g
1 ir el o1
AIrChT 3 5 L dfo 213
2.2 \ o a3 o [ : ¥ ficher
s 1533 + ] ; g
Y ={e {da Bagroom 208 ||]‘\_ &y '
e 1670 Y33 5F Becroom 2 o
2188 5F 37 5F, 15 b .
\ . Badrpom
. 287 o
G F 210
188 155 Hail
2 urﬁ-_:}m T oo Bagroom
A Eh T 5 17 5 : 1§ 8¢ 'k 56
t 1 2008 - o e
ﬁ Bedroom tain Dedposem 2128
A BT G . . | ";-. hroarm
r LT
aroom roarm
240 5F T
4 134 5F
Beq_:i_lrt-:}m
+038 2
17 150 2 .
Liv i {itchen Be_qlra-;m 21
& 128 5k, - : m
£ B \ mir dedracm
I r e
' 220
= Radroom

Figl41 - Level 03 Mechanical Flow (Author, 2021)

ARC517: Technical Design Project

Stage 4: Written Illustrated Report



2 : % :
S iR 7 i “
= = ;

IR =
¢ D
oy
SN
-

|,’ bl i
- 4 VANARR
\\I | L '
FrVad b
\ FRRRE RN

+ e L]

o !
\ ,
o PN
< o
; i 7
_c:/ |
_, :
i i g g
] [] i f
/ |/
% i kN
o G
L) !

A n A - - A A N e R

ARC517: Technical Design Project

Fig142 - Level 00 Floor Finishes (Author, 2021)

82

Stage 4: Written Illustrated Report



83

ST |y T
——— ="

i
C Tl

] ——
F -J1l-J1-J1—)}~-1—1-—1 1 11 1 1

Figl143 - Level 01 Floor Finishes (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



84

ARC517: Technical Design Project

Fig144 - Level 00 Floor Finishes (Author, 2021)

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

Figl44 — Bauder Green Roof Details (Bauder, 2021)

85

-

L
. =

sl el snle—

Stage 4: Written Illustrated Report



ARC517: Technical Design Project

Room Scheduls 2 Room Schedule 2 Room Scheduls 2 Room Scheduls 2
Levedl | Mumber | Mame | Area Levdd | Mumber | Mame Area Level | Mumber | Mame Hrea Level | Mumber [ Mame Area
Level 00 |Ai51 Lobby T [ewal 01 |B1.3 Circulaton |40 e Ceval 12 [AZS2F  |Living W [evel 03 |A3.500 |Bedroom  |10me
Level 00 |AG.1B Reception |20 Lewel0l  |B14 C+ 10m Room/Kitch Level 03 |A35J08 |Bathroom |2
Lewel 00 [AGAC Mailbeo: 11 Shower en _ Level 03 [A352E  [Bedroom [10m®
Area Lewel 01 [B15 c 5 m* Level (2 |B2AJSE  |Foom 1m* Level 03 |A3.52E5  |Bathroom |2mv
Lewel 00 [AG2 Lobby B Level 01 [B1.6 C 5m* Lewel @ |BIRAB  |Bathroom |3m* Lewel 02 |A3.53 Hal 15 e
Lewel 00 [AGZE Firefighting 22 n* L=l [B17 Staff Room |23 m? Lewvel @ |BIRAC [Storage |1m* Lewel 03 |A353A  |Bedroom  |1DmT
=tair__ _ levelDl (513 Manageme |74 m° Level 0B [B2 1 Lopby |48 Lewel 03 |A3.53AB |Bathroom |27
el 00 |A5a Circultion |54 m ntOffices | Level 12 B |50 Stirs T Tl 03 12358 Bedroom |10mE
Lewel 00 AG4 Cfrr'rrm 124 m? Lewel 01 B1.88 Storage 7 m* Lewel 2 B |B2.3 Storage 2 m* Level 02 | A3 5388  |Bathroom |2 me
Area _ Levsl 01 |B13C Storage [4m¢ Level I2 B |BZATA  |Hal Tme T TR = e
Lewel 00 |ASAB Storage  |Om® Lewel 11 [B12 Manager's [17 m® Level 126 |B2A1B  |Bathroom |5m® el 03 B350  |Begroom [0 0F
Lewsd 00 AGEH Circulation |13 ™ Office Lewel 02 B |B2AIC Bearoom Bm el 03 235908 Bathroon T
Level 00 |AGH Circulation |5 LewsiOl  [B1.10 Staff Z3m leval 125 |BZATD  [Man A LR R e P
Lewel 00 |AGT WC 4T Me=ting Bedroom e e T —
Leval 00 |AGE We s Foom [ewl DB |B2AIE  |Lwing Em L LU S
T e St e Lewel 01 [B1.AT Hall om* Roomiitch Level03|A3E3F [Living a0
w0 12610 Ewh  TEnE lewel0l_ [B1AIE_ |Bathroom [ en ;"W-”W
Room Level 01 |B1AIC  |Bedroom [Bm@ Level I2B |BZAIF  |Storage  |2me TR ek = TS
vl 00 |AGI0 Tirciation T8 e [ewsl 01 |B1AID |Man Hm [eval I2 0 |D2AZA  |Hal 0m TR ey B St
= PR S e Becroom _ Level 126 |BZAZE  |Living 36 m T 05— A3 542 Batvoom 2 nF
Piant Room Lewel 01 B1.A1E Living 36 m? Room'kitch L
Lewl 00 |AGIZ Spinker  [12mF Room/Kitch En Level 03 (A3 S48 |Bedroom (100
Tank Room &n Lewel 02 B B2 ACC Msin 12m Level 03 A3S4BE |Bathroom |2 m@
=T ek E] Formme T TE Level 01 |BLAIF |Storage  |2me Bedroom Cevel 03 |AdotC |Bedroom |10
=T R oy (607 Ceval 02 |A21 Lobby 20 [evel I2 6 |B2A20  |Bathroom |Bme Level 03 [A3.54CE_ [Bathroom [2mve
fres Level 02 |AZ2 Lobby B Level 2B |B2AZE  |Bedroom  [10m- Level 03 |A3.540  |Bedroom  |10me
w00 |AGTE Tar Farking |56 = (] Firsfighing |22 mv Level I2 B |BZAZF  |Storage  |2me Level 03 [A3.5408 [Bathroom [2me
Lol 00 |BGIE Bz T Stair Level [2 6 |D2rah  |Hal B Level 03 |[A3.54E  |Bedroom  |10me
Level 00 |[AG.1IBB  |Recyding |47 Lewel02  [AZ3 c B m Lewel (2B |[E2A3E  |Bathroom [4m° Level 03 |A3S4EE |Bathroom |2 n
Bins Level 02 |A24 C m® [evel 2B |B2AaC  |Man T Level 03 |[A3.54F  |Bedroom  |11me
Lewel 00 |BG.1 Lobby A0 Lewel02  [A25 Circuiation |11 Bedroom [evel 03 |A3.52FB  |Bathroom [2mr
Lewsl 00 BG2 SHairs e Lewel 02 |A28 Cleansr 11 m? Lewel 02 B |B2.A3D Bedroom  [Bm® Level 03 |A3S4G Living 32T
IEE I EEE] Bike Store |57 e s Store . Level 02 B |B2.A3E m%m Hm® Roomikitch
w0l BG4 Cleaners BT : Social m . En
Store Rioom &n [evel 03 |A3.55C  |Bedroom  |10me
Lewd 00 |BGE We B e Lewel 02 |A2YH Storage am® Lewel I2 B [BZAIEE |Storage 1m® Level 03B [B3A Lobby 43
e 0T (55E T b [eval 02 |AZTC Siorage |3mT [evel 126 |BZA3F  |Storage |1me [evel 03B |B32 Stars e
w0l 1357 Wain s el 02 |A2E Circulaton |13 i [eval [Z 6 |BZRAA  |Living | [evel 035 |33 Ceaner [51F
Storags [evel 02 |A2D Lotby 2w Roomiitch Store
Leval 00 |BGE Comsult 111 [l 02 [AZ.10 Foom Zm &n [evel 038 |B3AIA  |Bdl B
Rioom Lewal2  [ACTT Groun e Lewel 03 |A3 1 Lobby 14 m* [evel 03B |E3AIB  |Bathroom [6m
w00 |BGE TCTV T Study Lewel 3 |A3D Fioom Bm* (el 03B |BE3AIC  |Bedroom  [BrT
Meonitoring Foom Lewel I3 [A32B Firsfghtng (24 m* [evel 03B |BE3AID  |Man B
Level 00 [BG.A0 Farcel TEm lewel 02 |A212 Group 24 m Stair Bedroom
Store Study Level 02 |A33 Cleansr  |Tm* Cevel 038 |B3AIE  |Lming W
Lewel 01 AL Circulation |172 m Foom _ Finom _ Room/Kitch
a0l A12 Lift Lobby |8 nT Lewsl 02 |A213 L|I:-ja':,I EiErr': Lewel 13 Mf LI:{:EI:,' 1Err: en
Stair Lewel 02 A2 51 Hall 17 m? Lewel 03 A3 RAA Living 22 m” Level 03B [BIAZA Hall 10
Level 01 |A13 Communal |75 m Level (2 [AZ51A  [Bedroom [10m RoomdKiich [evel 13B |BIAZE  |Living 3
Kitchenette Level02  |AZS1AE  |Bathroom |2mr En _ Foom/Kitch
el 01 [A12 WC TZnr Ll 02 [AD.51E |Bedroom  [0mw Level 03 |AIRAB  |Bedroom |8 en
Level 01 |A1S WC 0me Lewel 02 |AZGIBE  |Bathroom [2mv Lewel 3 |AIRAC  |Bathroom [Bm® Level 3B [EIADBH |[Storage  [Tnv
Level 01 |18 Cleaner 71T Lesl02  [A2.51C  |Lving 2 Level 03 JA3.51 Hall 23 m* Level 03B [B3A2C  [Man (FL
Store RoomiKitch Lewel 03 [A3S1A Living 28 m* Bedroom
Lewel 01 AT Mult-Funct |82 n7 &n RoomdKitch Level 03B |B3AZD Bathroom  [B m@
on Room Level 02 |A2.510  |Bedroom  [10mw &n _ [evel 038 |E3ACE  |Dedroom |10
Lewel 01 [A1TE Storage [165mF Level 02 [A2.5108 |Bathroom [2m7 Level 03 JA3.S1E  |Hedroom |11 m* [evel 038 |B3AJF  |Storage  [2nv
Level 01 |AL7C Storage |4nT Lewl02  |AZS1E  |Bedroom  |[10m Lewel 3 |AI BB |Bathroom |2m® (el 030 |BaAdA  |ndl BT
lewel 01 [AlB Cirgulation |60 e Level 02 [AZ.GIEE |Bathroom [2mv Level 03 JA3.S1C  |Bedroom |11 m* [evel 028 [B2 A3 |Bathroom [4n7
Level 01 |A1D Stirs e T Hall 5nr Lewel 3 |A3Z1CE  |Bathroom |2 m* [evel 03B |B3A3C  |Man 0
Lewall  |ATTT Funchion |36 T [ewl02 |AZ50A  |Bedroom |10n7 Level (3 |A3.51D  [Bedroom |10 m Bedroom
Room Level 02 E7 SOAE  |Bathroom  |2me Lewel 03 A3 5108 |Bathroom |2m® Level 03B |B3.A3D Bedroom  [B
Lewel 01 [A1.12 Cinema  [4Bme [ewel02  |ADG0E  |Bedroom  |[10nF Lewel 03 |A3S1E  |Bedroom  [10m® level 03B |B3A3E  |Living M
Lewel 01 |A1.13 Hw; 52 e [BtSE [Bavoom 2 ﬂ E E SJ-EB ﬂm f = ;H:-::ml-ﬁtd'n
E Soci 2 mt zl = 2 7m®
Foom it {fose i [ o0 [A3 A —[Beoon [0 [owd 038 [BOAE [stoage [1nr_
Level 01 |AT.13B Storage |5 e 2 A0  |Begromn  10me Level 03 |A3.SZAE |Bathroom 2@ Level 3B |BIRAA  [Living 28 m*
Lewel01[ATH_ |Gym BE m ' - [l 03 |A350E  |Bedroom |ome Roomykiich
0T [ATHE [ = [evel 02 |AZ.5208  |Bathroom |2m = L 2 m P
’ Storage Lewel 02 |AZSZE Bedroom [10m? o e T room ;"' _ Level 03B |B3IRAE  |Room 3T
= [eel 2 |AlSJEB  |Bathroom [2mr wing 23m = =
Lewel 01 |BIA Lokby 3 BoomKitzh Level 03B |ERRAC  [Storage [T
Level 01 |B12 Stairs T me en

Fig145 — Room Schedule Level 00 to 03 (Author, 2021)

86

Stage 4: Written Illustrated Report



87

3.0 Design in Context Images (Draft)

LUMION

Fig146 - Level 02 Roof Garden (Author, 2021) Figl47 - Level 08 Hardscape Terrace (Author, 2021)

Fig148 - Young-Old Apartment (Author, 2021) Fig149 - Young-Old Apartment (Author, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



88

"y

_-u \ li\" Nl

v e ]

Fig150 - Entrance Lobby (Author, 2021) Fig151 - Small Gym (Author, 2021)

Fig152 - Social Space (Author, 2021) Fig153 - Student Living Room/Kitchen (Author, 2021)

ARC517: Technical Design Project Stage 4: Written Illustrated Report



89

.U'

Figl55 - Management Office (Author, 2021)

Fig154 - Student Room (Author, 2021)

-

Fig156 - Terrace (Author, 2021)

Stage 4: Written Illustrated Report

ARC517: Technical Design Project



